Breakfast Time J DUZILES

Logic Puzzle 1K™

Claudia, Jennifer and Steph enjoy a different means of catching up on the news while having breakfast. Each has breakfast at
a different time and as part of it, one has cereal, one has coffee, and Steph has toast. From this information and the following
clues, can you determine each persons means of catching up on the news, their part of breakfast and the time at which they
have it?

1. The person who read the newspaper had breakfast later 3. Cereal was eaten 20 minutes after the person who watched
than the person who liked to listen to the news on the radio. the breakfast news on TV.

2. Jennifer had her breakfast directly before the person who 4. Claudia's black coffee was not the breakfast taken last.
had toast.
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Logic Puzzle K™

Claudia, Jennifer and Steph enjoy a different means of catching up on the news while having breakfast. Each has breakfast at
a different time and as part of it, one has cereal, one has coffee, and Steph has toast. From this information and the following
clues, can you determine each persons means of catching up on the news, their part of breakfast and the time at which they
have it?

1. The person who read the newspaper had breakfast later 3. Cereal was eaten 20 minutes after the person who watched
than the person who liked to listen to the news on the radio. the breakfast news on TV.

2. Jennifer had her breakfast directly before the person who 4. Claudia's black coffee was not the breakfast taken last.
had toast.
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